Recruitment of Data Entry Operators

HYAT &I § T8 I HEquf &

R 121732

AT TR O3 & WIES 1 O W A, 5 F wwen oftemedf weie wwn @ 6. 6 # v waiee (i siw) Ry awn it
srgrpfirat @t wren R, sty ST Feee SieT A8 o awe #
VERY VERY IMPORTANT PLEASE

WRITE AND DARKEN ON SIDE 1 OF YOUR ANSWERSHEET YOUR ROLL NO.* IN BOX NO. 5 AND TEST

FORM NO.™ (THREE DIGITS) IN BOX NO.6 OTHERWISE YOUR ANSWERSHEET MAY NOT BE ASSESSED.

1. wiemd] e * 2. G L SE A G

ROLL NO.* TEST BOOKLET SERIALNO. /. 1§
3. weamifem waim 4. UEY mHIE

TEST BATTERY NO. R 121 732 . TEST FORM NUMBER ** 222

o =
' s d‘

1. ¥ UR 4 Pl g wemet & A 1. This Booklet contains one test as follows :

| AR, W A, et General Awareness,

T fas i st FegeR # - General English, Elementary

&« . & Mathematics and Fundamental
¥ S Gl — W& W 120 Knowledge of Computer ~ — Q.Nos. 1 to 120

. §H WSS @ I o & fo st g 2 W

w94 R arem|

. o vy s nemmEett famet aflv oot o 2

it vl g & | B woreR A e S T W
3t el @fE R F o et gy # |

. 3R 31U T IR & O SISy W0 @ d Herh

=& & st |

o @, afe g we O, § 59 gfRm s & e
wifed 7 b Swwes ov | g9 &g I & are A
TYETY WA TR @ I9arT e | sy Rl I
1 JUEnT T i |

. 30 I AT INUT UN Had BT 1A g5 O 7

W ens TR SRR e i R w
et @ e AR BRECIMEN CO
T IS H IO S & o 1 20 9 it S

& | g6 giee | 22 g 120 wet & o A & o
e GEt 120 IREUE 3 Iear Hifrd |

g e e = ey s gfRven o) 7 @Rt | g
arert w1 Frifer et w gfere & ot feamt & ot
EC 53 BV oR e o w9 w | e ¥
fFraer R 6t werar & gy o1 T aiv @ @
T |ty |

. g aterd & o o fs it g ey, 1

W 120 B ArT wHR # O g0 ¥ ol s weemaferat &
FE A WY P | af g Sagef & &t ot
HEAEEA W HHPAT T WY § qgear
et |

=Y

You will be given an aggregate time of 2 hours to
answer the test.

The test except for General English is printed in both
Hindi and English. The Hindi version is printed on
the lefit hand side page and the English version on
the right hand side page.

There will be no penalty for wrong answers marked
by you.

Rough work, if you want to do any, is to be done in
this booklet itself and not on the answersheet. For
this purpose use the empty space in the margin or
anywhere else you find in this booklet. Do not use
any other paper.

Indicate your answers on the separate answer-
sheel, using black ball point pen only. Follow the

instructions given on the answersheet for indicating
yoUr answers,

Your answersheet contains answer-spaces for
answering more than 120 questions. Use only the
first 120 answer spaces for answering the 120
questions given in this booklet.

Do not open the booklet until you are told to do
s0. When the instruction for opening the booklet
is given, do not try to remove the wire staples at
the left. Insert the blunt end of your pencil under
the cover from the top or the bottom edge and
tear open along the right hand edge.

Immediately after opening the booklet verify that
all the pages containing questions from 1 to 120
are properly printed in your booklet and then
begin answering the test. In case the booklet is
defective get it replaced by another test booklat
bearing the same Test Form No.

¥l wrafer & I9ART ¥ / For office use only

A anl

?
e

a4

- 2

zmwv0~N“" 34g

w — X 4 @ Z 0o0r »

m @ O m

i

YRR



AT AT, AT 371, TR T 3R SR &1 Jerd ST

w1, T U MR S & EMMC famm &1 fter e g 7
(1) e efefaom Aegd RfvoHt & 9as @1 99 o2
(2) araant/afimet & fem & o o 3% &
(3) dfu ve after! & SeuT &) 9%
(4) TEwae ffem gm aftrafey & after & 9599 6 39 e
(5) wan drenfad aiftrfae & aees ot 9@ &

H.2. AfiHee # AMie agEu wAt I & ?
(1) gada  (2) Myweowwae  (3) sFmel () @& Fom () ania e

%3 TR & WA a1l @ Waied HHIST B 8 7

(1) =wa & warE (2) = & el (3) 1 FTH & WGE
(4) ST e @ v (5) W & e w5t
7.4, TR T TR g P W& ?
(1) #m (2) diver (3) @R (4) e (5) @™
W.5. AR & Yot A wE i 4a) & o wem Fe d 7
(1) 28 (2) 37 {3) 35 (4) 38 (5) 39
7.6. & ¥ vite qm oo & fovg aeerer & e o e wa wen wer gvn W & gEE 1 gt A B A1 A |
T ?
(1) 0T 299 U8 FAN A7 (2) Yoa affas & waur] & FuR SRE
(3) s e (4) e 37w g

(s) == wfdwn wfta & dea wo
n.7. e & aetg W e fenfee el 8 2

(1) 7517 (2) 9517 (3) 10517 (4) 11517 (5) 12517
W.8. feg &1 Taifts T ael alead @ W 8 ?

(1) &9 (2) o (3) gmgfes favsw (4) wRE (5) wgaw ooy arfieE
w.9. fedadam oo mmanadig ?

(1) 3i=9 g FeER @ w98 (2) @G (a) v

(4) TRE S (5) = vE TR g6
W.10.  fore W pemEre @ S o I e Y g W 8 7

(1) Bsm= (2) =arg amn e (3) wwd daw (4) FPARafase  (5) amdieae
o1, 36 2 g ofide g faem ot 2 2

(1) =1 7 e (2) wifar mieft * (3) v gl

(4) & & gErmE (5) sree faer araddt
W12, &9 A fahta o & Rl oee $ aga w8, swe oof O R ?

{1) Financing Indian Investment (2) Financing Indian Investors

{3) Financing Indian Institutions (4) Financing Institutional Investors
{(5) Foreign Institutional Investors

W.13. g oon o1 &% Tty aaur 89 (NCR) o Rem =df & 7
(1) wfmon (2) STwEs (3) I uey (4) Iroreem (5) gumg

222 R 121732 B 2

el



GENERAL AWARENESS, GENERAL ENGLISH, ELEMENTARY
MATHEMATICS AND FUNDAMENTAL KNOWLEDGE OF COMPUTER

Q1. What is the role of EMMC department of Information and Broadcasting ministry 7
{1) To check the violations of the Cable Television Networks Regulations
(2) To check the violation of Advertising in News Papers/Magazines
(3) To check the violation of Constitutional Rights
(4} To check the violation of Right of expression by Display Media
(5) To check the violation of Information Technology Act

aQ.z. Whao is the civil aviation minister in the council of ministers 7
{1) Mukul Roy (2) Shriprakash Jaiswal (3) Anand Sharma
(4) M. K. Alagiri (5) Ajit Singh
Q.3. Who is the supreme commander of the nation's armed forces ?
(1) Prime Minister of India (2) The President of India
(2) Chief of Army Staff (4) Chief of Naval Staff
(5) Defence Minister of India
Q.4. Which is the national tree of India
{1) Neem (2) Peepal (3) Khajoor (4) Banyan (Bargad) (5) Mango
Q.s. What is the total number of states and Union Territories in India ?
(1) 28 (2) 37 {(3) 35 {4) 38 (5) 39
Qs. What is excluded from the list of fines if address given in Tatkal Form for booking seat in a train is

found to be false 7

(1) Deboarding at the next station

(2) Imprisonment as per provisions of Railway Act
{3) Impaosition of fine

(4) Set of Warning

(5} Punishment under Criminal Procedure Code

Q.r. How many kilometers is India's coastline long 7
(1) 7517 (2) 9517 (3) 10517 (4) 11517 (5) 12517
Q.s. Which is the most populous democracy in the World 7
(1) China {2) Pakistan {3) United Kingdom
(4) India {5) United States of America
Q.. Which one of the following is not a union Territory ?
(1) Andaman And Nicobar Islands {2) Chandigarh (3) Goa
(4) Daman and Diu {5) Dadra and Nagar Haveli
Q.10. Which service providers are exempted from payment of Service Tax ?
(1) Advertising (2) Air Travel Agent {3) Airport Services
{4) Negative List (5) Architect
Q.11, Who wrote the book titled *Off the Track" ?
(1) Dr. Manmohan Singh {2) Sonia Gandhi (3) Pranab Mukherjee
(4) D. B. Subbarao (5) Atal Bihari Vajpai
Q.12 What is the full form of term “FII" which is much talked about in the Financial World these days 7
(1) Financing Indian Investment (2) Financing Indian Investors
{3) Financing Indian Institutions (4) Financing Institutional Investors

{5) Foreign Institutional Investors

Q.13, The area of which state is not a part of the National Capital Region (NCR) ?
(1) Haryana (2) Uttarakhand {3) Uttar Pradesh (4) Rajasthan (5) Punjab
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The license of which Airline has been suspended recently 7

(1) Indigo (2) Goair {3) Jet (4) Kingfisher .(5) Spicejet
Which of the following cricket competitions is not a Domestic Competition organized by BCCI 7
(1) Ranji Trophy {2) Duleep Trophy (3) Champions Trophy

{4) Irani Trophy (5) NKP Salve Challenger Trophy

Who is the Railway Minister in the Cabinet ?

(1) Mukul Roy (2) Mallikarjun Kharge {3) Dinesh Trivedi

(4) C. P. Joshi (5) G K. Vasan

What is the name of the exhibition organized by Federation of Rajasthan Handicraft Exporters every
year in Jaipur for promoting Handicrafts 7

(1) FORHEX fair (2) STONEMART (3) JAS (4) VASTRA (5) Vision Rajasthan
Which District of Rajasthan is the origin of The community known as Manganiyar ?
(1) Pali {2) Barmer (3) Bikaner (4) Jaisalmer (5) Nagaur

What is the name of the film directed by a well known Producer/Director who passed away in Oct
20127

(1) Sangharsh {2) Bobby (3) Kahani (4) English Vinglish (5) Dhoom
In which District of Rajasthan Kiradu Temples are situated 7

(1) Bundi (2) Churu (3) Nagaur (4) Barmer (3) Pali

Which of the following awards is meant for coaches of the sportsmen ?

(1) Rajiv Gandhi Khel Ratna Award (2) Arjuna Award

(3) Dhyan Chand Award (4) Dronacharya Award

(5) Maharaja Ranjeet Singh Award

What is the ground on which United States has blacklisted Indian Imports of Carpets for the
year 2012 7

(1) Using Child Labour (2) Using synthetic colours (3) Using Synthetic Fibre
{4) Design Issues (5) USD is weak

In which city of Rajasthan, ADHAI - DIN KA- JHONPRA is situated 7

(1) Ganganagar (2) Alwar (3) Bharatpur (4) Sikar (5) Ajmer
Up-to which age is the right of a child to free and compulsery education protected 7

(1) 21 years (2) 15 years (3) 14 years (4) 10 years (5) 6 years
Which city is associated with Shekhawati Festival ?

(1) Nagaur {2) Pali {(3) Navalgarh {4) Fatehpur (5) Jhalawar
Which is the largest employer in India 7

{1) Indian Railways {2) Indian Armed Forces (3) Hindustan Unilever
{(4) State bank of India (5) Reliance Group

Which Corporation has played a catalytic role in the industrial development of Rajasthan 7
(1) Rajasthan State Industrial Development and Investment Corporation Ltd.

(2) Rajasthan Finance Corporation

(3) Rajasthan Small Industries Corporation Ltd.

{(4) Rajasthan State Co-Operative Marketing Federation Ltd.

(5) District Industries Centers

Which Indian Politician has been honoured by Bangla Desh after Forty-one years it won
independence 7

{1) Indira Gandhi {2} Sanjeeva Reddy (3) Jagjeevan Ram

(4) Nandini Satpathy {5) Y. B. Chavan

Which city of Rajasthan shares some of its area as a part of National Capital Region ?

(1) Kota (2) Alwar (3) Shahpura {4) Bhilwara (5) Bharatpur
Which city of Rajasthan has been identified by The NCR Planning Board as counter magnet area 7
(1) Kota (2) Alwar {3) Shahpura {4) Bhilwara (5) Bharatpur
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Q.3140. Read the following passage carefully and answer the question. Certain words are printed in bold to help

Q.31.

Q.32.

222

you locate them while answering some of the questions

The wife of the headman of a village died soon after giving birth to a baby boy. The headman was
inconsolable but was persuaded by his family and friends to marry again so that the child would have
someone to look after him. Fortunately, his second wife turned out to be a kind hearted and sensible
woman who gave the child all the love and care he would have received from his own mother. After afew
years she gave birth to two more sons, but her affection for the eldest never diminished. She treated all
three boys alike and the two younger ones never realised that they had a stepbrother.

When the headman passed away, the widow entrusted all the responsibilities of household and
fields to the eldest son. He managed the responsibilities so well that the family prospered. This made the
neighbours envious. One day, the neighbours told the widow’s sons the truth about their eldest brother
and advised them to drive him away lest he should deprive them of their share of the property. The
younger brothers were shocked at the revelation and were frightened by the prospect of losing their
share of the property. They decided to murder their eldest brother to get rid of the problem. When they
told their mother about what they planned to do she said to them, “Don't bloady your hands, | will get rid
of him for you."

That night, when everybody was asleep, she suddenly jumped out of the bed and started shouting,
"Snake! Snake!” “Where ? Where did you see it mother 7" asked the eldest son, getting up from his mat.
“Alas." said the widow, “| saw it disappearing in your stomach.”

The eldest son turned pale. From that day onwards he lost all appetite for food and would lie on
his mat whole day long. Soon he became so weak that he could not even sit up on his mat. The neighbours
rejoiced and took advantage of the situation. They built a wall across the widow's courtyard and claimed
a part of the house as their own. In the fields they shifted their boundaries to enclose large portions of the
widow's lands. The younger sons’ could not deal with the situation and one day they said to their mother,
“If our elder brother was not bed-ridden such terrible things would not have happened to us.”

The widow kept quiet then but in the dead of the night she started shouting, “Snake! Snake!"
Everyone woke up. “Where ? Where did you see it mother ?" asked the eldest son weakly. “Son, | saw
it coming out of your stomach,” replied the widow, "It disappeared in the darkness.” From that day the
condition of the eldest son started improving. Soon he was able to walk up to the courtyard where he saw
a new wall. “Who has built this 7" He thundered. The neighbours came running and meekly pulled it
down. The following week he went to the family fields and seeing the new boundaries shouted, "Who has
done this 7" The neighbours trembled with fear and quickly vacated the land they had grabbed. Since
then the widow and her three sons lived in peace and harmony.

Why were the neighbours envious ?

(1) The eldest son managed his responsibilities so well that the family prospered
(2) The younger sons had more money than the neighbours

(3) The younger sons prospered without any merit

(4) The eldest son had more fields than the neighbours

(5) The eldest son used the neighbours' strategy and prospered more than them

Why did the village headman agree to remarry 7

(1) He felt very lonely

(2) His son felt very lonely and longed for @ mother

(3) He was persuaded by his family and friends to marry again
(4) He knew that his wife would have wanted him to remarry
(5) He wanted more children
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How did the condition of the eldest brother improve ?

{1) He was provided medical assistance

{2) The neighbours' tyranny gave him the will to improve
(3) His mother looked after him dearly until he improved
(4) He believed that the snake had gone out of his stomach
(5) The snake had actually gone out of his stomach

Which of the following is an appropriate title for the passage ?
(1) The Envious Stepmather

(2) The Headman and His Wife

{3) The Forgotten Snake

(4) The Widow and Her Three Sons

(5) The Neighbours and Their Tyranny

How did the widow solve the younger sons' problem ?

(1) By making the eldest son believe that there was a snake in his stomach

{2} By killing the eldest son

(3) By throwing the eldest son out of the house

(4) By giving the responsibilities of the household and the fields to her younger sons
(5) By asking her younger sons to bloody their hands and kill her eldest son

What was the neighbour's advice to the stepbrothers' ?

(1) Kill the eldest brother to gain his share of the property

(2) Make the eldes! brother fall ill

(3) Confront the eldest brother about his real mother

(4) Drive away the eldest brother or else he would deprive them of their share in the property
(5) Ask their mother to get rid of her step son by depriving him his share in the property

When did the younger brothers realise the importance of their eldest brother 7
(1) When their eldest brother could not recover from his illness

(2) When their mother lost faith in them

(3) When their eldest brother decided to move out of the house

(4) When their mother was upset about her eldest son's ill health

{5) When they were unable to handle household responsibilities

Choose the word which is most nearly the SAME in meaning as the word printed in bold as used in
the passage.

revelation : (1) insistence  (2) disclosure (3) secrecy (4) inspiration  (5) affirmation
deprive : (1) force (2) seize {3) bestow (4) compel (5) deny
entrusted : (1) confided (2) enrolled (3) allowed (4) gave (5) charged

Read each sentence to find out whether there is any grammatical error in it. The error, if any, will be in
one part of the sentence. The number of that part is the answer. If there is no error, the answer is (5)i.e.
‘No error’, (Ignore errors of punctuations, if any).

Tiger has a muscular / body with particularly / powerful forelimbs and / a large head. Mo error
(1) (2) (3) (4) (5)
Amrita was happy / because her father / promise to gifta/f
(1) (2) (3)
wooden rocking pony on her birthday. No error
(4) (5)
Some writers have define / introverts as people whose / energy expands through reflection /
(1) (2) (3)
and reduces through interaction. MNo error
(4) (5)
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Psychology is a / discipline that involves / an scientific study of / mind and behaviour. Mo error
(1) (2) (3) (4) (5)

With the exception / of one decades, population / in India has continued to grow /

(1) (2) (3)
at an alarming pace No error

(4) (5)

Each sentence below has a blank; each blank indicates that something has been omitted. Choose the
word that best fits the meaning of the sentence as a whole.

Rohan was undergoing treatment for anaemia in childhood and — then is afraid of doctors.
{1) by {2) so (3) now {(4) before (5) since
Reshma was because no one turned up for her birthday and she was left all alone.

(1) happy (2) apologetic {3) delighted (4) sorry (5) upset
Shaurya is a five year old kid who is very creative intelligent for his age.

{1) but (2) along (3) and {4) with (5) not

Prices of all goods and services have increased . more than the estimated price as per the
inflation rate.

(1) many (2) very {3} although (4) much (5) heavily
Today teenagers face a lot of peer pressureasa of which they end up indulging in criminal
activities.

(1) impact (2) kind (3) result (4) possibility {5) reason

In each question below, four words printed in bold type are given. These are numbered (1), (2). (3) and
(4). One of these words printed in bold might either be wrongly spelt or inappropriate in the context of
the sentence. Find out the word that is inappropriate or wrongly spelt, if any. The number of the word is
your answer. If the words printed in bold are correctly spelt and appropriate in the context of the sentence
then mark (5) i.e. 'All Correct’ as your answer.

Drinking is one of those things that starts innocently but devastates a person
(1) (2) (3)

completely. All correct
(4) (5)
Pooja was a shy girl who sat on the last bench and due to her plane looks she
(1) (2) (3)
was never noticed. All correct

(4) (5)

There are so many insuranse plans and policies in the market today that people

(1) (2) (3)

are confused. All correct
(4) (5)

Shankar was a rich merchent and would donate a large sum to charity every year. All correct

(1) (2) (3) (4) (5)
Children today have low immunity and are week due to lack of nutrition and poor

(1) (2) (3)

eating habits. All correct

(4) (5)
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Q.56-60. Rearrange the following six sentences / group of sentences (A), (B), (C), (D), (E) and (F) in the proper
sequence to form a meaningful paragraph; then answer the guestions given below them.

(A) Gopal, the Jester, immediately disagreed. He said that businessmen were cleverer and offered
o prove it,

(B) The scholar, overjoyed, asked for 20 gold coins and when he was paid the amount, allowed the
barber to shave his upper lip clean.

(C) Afew days later Gopal called a scholar to the palace and told him that the king wanted his
moustache and asked him to name his price.

(D) Gopal gave him the money but when the barber approached him, the businessman pushed him
away saying, "The moustache now belongs to the king! | won't let anyone touch it!" And with that
he turned around and walked out of the palace.

(E)} King Krishna Chandra once expressed the opinion that scholars were the cleverest men in his
kingdom.

(F) Next, a businessman was sent for and when told that the king wanted his moustache he
claimed 20,000 gold coins for it.

Q.56. Which of the following should be the SECOND sentence after the rearrangement ?

(1) A (2) D (3) C (4) B (5) E
Q.57. Which of the following should be the SIXTH (LAST) sentence after the rearrangement 7

(1) A (2) B (3) D (4) E (5) F
Q.58. Which of the following should be the FIFTH sentence after the rearrangement ?

(1} A (2) B (3) C (4) E (8) F

Q.59. Which of the following should be the FIRST sentence after the rearrangement 7
(1) A (2) B (3) C (4) D (5) E

Q.60. Which of the following should be the FOURTH sentence after the rearrangement ?
(1) A (2) B (3) C (4) D (5) E
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554+84+12+30="7

(1) 515 (2) 595 (3) 556
(4 % 4F x (16 = 4)* + 1024 = (4)
(1) 5 (2) 8 (3) 7
Yizi67 + 169 = (7F
(1) 36 (2) 6 (3) 8
3Bx51+6+(8) =7
(1) 833 (2) 818 (3) 845
(83 x4)+ (17 x12)=7
(1) 263 (2) 535 (3) 546
4555+ 25 % 7=2186.4
(1) 13 (2) 15 (3) 128
552 51 35% + 478=7
(1) 245 (2) 243 (3) 241
3455+ 1212 + 3884 =5212+7
(1) 3393 (2) 3333 (3) 3339
2
450 & 28% 1 w3 =T
(1) 84 (2) 88 (3) 86
(3000 +231)+9 =7+ 122
(1) 359 (2) 238 (3) 357
3
444&5 s =7
(1) 133.2 (2) 132.3 (3) 133.8
23.45 + 451,29 + 1222.98 =7 + 788.75
(1) 908.37  (2) 908.97 (3) 901.57
3
(30 x 19) & 40% = T =t
(1) 136.8 (2) 133.9 (3) 141.8
3 2 1

SR R

2 2 3) 11 £
(113 (2) 13 3 B) 113
R 121732

B 10

(4) 591
(4) 9

(4) (36)*
(4) 838
(4) 533
(4) 14.6
(4) 239

(4) 3329

(4) 83

(4) 237

(4) 138.3

(4) 905.97

(4) 1395

1=
ORIE—

(5) f&w mu Recat ot B

(5) e famedt @ Bl I

(5) V6

(5) fBum fiwat @ 2iean g

(5) fan Mo fwed Bt vigaR 3T

(5) T mu Rt @ BigaR

(5) fu 7y et ot BigaR o=

(5) f2u T el & Brem Y

(5) Ry Reed i vrepy &4

(5) fay 7y fameat @ Blgan 3

(5) Ty v fgdt i SR I

(5) vy faed! # Bigaw 3

(5) fam T fedt @ sieaw 3

(5) fau o fame @ ereen 3



Q.61-80. What will come in place of the question mark (?) in the following questions ?

Q.61.

Q.62.

Q.63.

Q.64.

Q.65.

Q.66.

Q.67.

Q.68.

Q.69.

Q.70.

Q.71.

Q.72.

Q.73.

Q.74.
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554 +84+12+30=7

(1) 515 (2) 595 (3) 556 (4) 591
(4 % 4) x (16 x 4)' + 1024 = (4)’

(1) 5 (2) 8 (3) 7 (4) 9
312167 + 169 = (?)

(1) 38 (2) 6 (3) 8

38 x51+6+(8)'=7

(1) 833 (2) 818 (3) 845 (4) 838
(83 x4)+ (17 x12)=7 _

(1) 563 (2) 535 (3) 546 (4) 533
4555+ 25x 7=2186.4

(1) 13 (2) 15 (3) 12.8 (4) 14.8
35% of 552 +47.8=7

(1) 245 (2) 243 (3) 241 (4) 239
3455+ 1212 +3884 = 5212+ 7

(1) 3393 (2) 3333 (3) 3339 (4) 3320
2

3 rdof 28% of 450 = 7

(1) 84 (2) 88 (3) 86 (4) 83
(3000 +231)+9=7+122

(1) 359 (2) 238 (3) 357 (4) 237

3 1
Ethuf"z*ufdﬂ-?

(1) 133.2 (2) 132.3 (3) 133.8 (4) 138.3

23.45+451.20+1222.98= 7 +788.75

(1) 908.37 - (2) 908.97 (3) 901.57 {4) 905.97

3
5 th of 40% of (30 x 19) = ?

(1) 136.8 (2) 133.9 (3) 141.8 (4) 139.5

—3.+ z i..?

25 33+53—

1 ‘11E 13E ‘EE
mng @uBy; @1z
R 121732

4 1=

B 11

{(5) Other than those given as options

(5) Other than those given as options

(4) (36) (5) 6

(5) Other than those given as options

(5) Other than those given as options

(5) Other than those given as options

(5) Other than those given as options

(5) Other than those given as options

{5) Other than those given as options

(5) Other than those given as options

(5) Other than those given as options

(5) Other than those given as options

(5) Other than those given as options

(5) Other than those given as options



H.75.

H.76.

H.77.

H.78.

H.79.

H.80.

n.a1.

w.82.

W.83.

W.84.

7.85.

u.86.

H.87.

H.88.

.89,

w.90.
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V60 + 60 - 12 + 13 =7

(1) 13 (2) 11 (3) 12 (4) 14 (5) féw mu Rt 1 vreaw g
800 1 12% + 60 & 105% = 7

(1) 153 (2) 155 (3) 159 (4) 157 (5) f2n M et o1 BlgaR #Y
Jia4a - {529 =7

(1) 14 (2) 15 (3) 18 (4) 13 (5) fu g faedi @ vieaw s
(18 + 32)— (345 - 3387 =7

(1) 2 2) 5 (3) 3 (@) 7 (5) fu Ty fRmedt @1 vieaw ¥4
1ne 12 8 _,

128 : 7 e . y .

(1) 15 ) 33 () 33 (@) 5 (5) fag my et &1 Biga e

138956 + 129985 — 102278 =7
(1) 166665  (2) 166636  (3) 166366  (4) 166663  (5) fow v Rl @ BigdT 39

wpr & Fpefaien de & aitea &1 oo FET |

45, 37, 12, 62, 70, 26

(1) 44 (2) 45 (3) 38 (4) 43 (5) form faaed! ot Bigew I
Ao gty weEtat A 175 & | wey a2 ol wee v wem @ g A 27

(1) 73 (2) 72 (3) 70 (4) 69 (5) f2v v Rl @ BieeR 3

e 0t =R o R & Wit o A % 2 | Praver Bt wrRer g ¥ 26,000/ % | s 6 @i
T ?

(1) 2,34,000/- (2) 2,33,000/- (3) ¥2,35,000/-

(4) T2,34,500/- (5) f2v v et o1 BigeR =

e e 4 2 R 6 fov M b o o e A & 1 15 Ry 3 Reet o @ Swi e 7

(1) 48 fmm (2) 90 fm (3) 95 fm (4) 43 fm (5) fRu M et B Biga 3=
(598 & ¥ (15)° g ¥ 919 791 &9 7

(1) 111 (2) 108 (3) 106 (4) 104 (5) fag my fweat ot BieaR =
% 5.500/- $ 2f¥ W 3 g¥ F A 12 FAHT B ¥ F fra Wy == e ?

(1) T1900/-  (2) T1988-  (3) T1990/-  (4) T1980  (5) faw 7o Reeat o Bleaw w9
Wﬁfﬁﬁwﬁwgﬁﬂnﬁrﬂ% 2 7o dce ses Pt auw d | 65 R B amEA
et 9l e o & 7

(1) 52 (2) 3Ee (3) 76 (4) 6 ¢ (5) fau m Reedl o1 slgex 34
s sl 3 & R wrae T 26/- B fl # v @ el 5 R F 2 18- ofty Rt @ @ @ | g
et o wd g 27

(1) T316/- (2) T318/- (3) T314/)- (4) ¥ 320/ (5) Bn o Rl o vigaw 3

4 O 3t g Ofe & Breme AR T58- 2 | 10 99 afle 15 e 6 Pieew $iwa @ Enf 7

(1) T140/- (2) T145/- (3) T136- (4) Proffa ==t fk o1 5@ (5) fEw g frwedt B Bee I

300 &1 quf orf =t & forg ot S ~gAas we Wel =y ?
(1) 21 (2) 22 (3) 36 (4) 24 (5) v fawedt 1 BrewR I
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Q.75.

Q.76.

Q.77.

Q.78.

Q.79.

Q.80.

Q.81.

Q.82.

Q.83.

Q.84.
Q.85.

Q.86.

Q.8T7.

Q.88.

Q.89.

Qi Bﬂf
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60 + 60 - 12 + 13 =7

{1} 13 {2) 1 {3) 12 (4) 14 (5) Other than those given as options
12% of 800 + 105% of 60 =7

{1) 153 (2) 155 (3) 159 (4} 157 (5) Other than those given as options
J1444 - 529 = 2

(1) 14 (2) 15 (3) 18 {4) 13 (5) Other than those given as options
(18 + 32) - (345 - 338 =7

(1) 2 (2) 5 (3} 3 (4) 7 (5) Other than those given as oplions
M9 12 8 __

128 17 "9~

11 El 31—1- 41 5) Other than th i ti
(1) 35 (2) 33 (3) 2 (4) 1 (5) Other than those given as options

138956 + 129985 - 102278 =17
(1) 166665 {2) 166636 (3) 166366 (4) 166663  (5) Other than those given as options

Find the average of the following set of scores :
45, 37, 12, 62, 70, 26
(1) 44 (2) 45 (3) 38 (4) 43 (5) Other than those given as options

The sum of five consecutive numbers is 175. What is the sum of the largest number and the smallest
number 7
(1) 73 (2) 72 (3) 70 (4} 69 (5) Other than those given as options

3
Anita’s monthly income is 1 th of Vishal's monthly income. Vishal's monthly income is ¥ 26,000/-.

What is Anita's yearly income ?
(1) T2,34,000/- {(2) T2,33,000/- {3) T2,35,000/-
(4) ¥ 2,34,500/- (5) Other than those given as options

A canteen uses 6 kgs of wheat flour in two days. How much will they use in 15 days 7
(1) 48 kos (2} 90 kgs (3) 95 kgs (4) 43 kgs (5) Other than those given as options

If (15} is subtracted from (59)°. What will be the remainder ?
{1) 111 (2) 108 (3) 106 (4) 104 {5) Other than those given as options

What would be the simple interest obtained on an amount of ¥ 5,500/- at the rate of 12 p.c.p.a after 3
years 7
(1) T1900/~  (2) T1988/-  (3) T1990/- (4) T1980/- (5) Other than those given as optlons

. 1
The speed of a scooter is Eth the speed of a truck. The truck covers 364 kms in 7 hours. How many

hours will the scooter take to cover a distance of 65 kms, ?
{1} 5 hours {2) 3 hours {3) 7 hours (4) 6 hours  (5) Other than those given as options

A man bought 8 kgs of rice at the rate of ¥ 28/- per kg and 5 kgs of sugar at the rate of ¥ 18/- per kg.
What was the total amount he spent 7
(1) T 316/ (2) T 318- (3) ¥ 314- (4) T 320/- (5) Other than those given as options

The cost of 4 pens and 6 pencils together is 7 58/-What would be the cost of 10 pens and 15 penciis

together 7
{1) T 140/- (2) T145/- (3) T135/-
(4) Cannot be determined (5) Other than those given as options

What is the least number that can be added to 300 to make it a perfeci square ?
(1) 21 (2) 22 (2) 36 (4) 24 (5) Other than those given as options

R 121732 B 13 B




H.e1.

H.e2.

H.93.

H.94.

H.95.

H.96.

w.97.

W.98.

H.99.

H.100.

H.101.

H.102.

H.103.

H.104.
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o % & 39 O a7 Svee IR & SO AT NS B 9T e § |
(1) &M (2) @ dw (3) e o (4) 9% 71 (5) we o

forelt wieaTR & T vERSiERE fihy W wa ar aeie 3R i B Hd aeido @
(1) #ar (2) gaR  (3) @A (4) wEEaAR (5) fa 0 et @ BIER 3T

qfef dte #, ot AR W g/ ave B Ridge o & 918 B fFer s o o w1 e #
qae W 8 |
(1) gfemra (2) JweTes (3) 3Py a sizwergs (4) oo (5) ws

0 i ue = aur T & o mie ox st onftes suf e ?
(1) fesfam (2) #=fv (3) R (a) oEeR (5) fag T fRwmedt ot BigaR #

Wi iR it T a5 R e SugEe airedaR uiterer e 8 3 @ W e 7
(1) seEw (2) sgfefmr  (3) miFamdds  (4) o (5) wresfie

T Rreew @ a1 e & Rorad e it aradfd fwen & e e ol qae 9 SevarE S O E 7
(1) Tor gepe (2) oW giweret (3) Sewrd  (4) B AR (5) amga=

MS fiETor aifmfi fyees @ &g &= @fdnm sisel/ fiesy 4 w5 w5 £ |
(1) = wies (2) Feadaraers  (3) o (4) e (s) o1 SgHed

et oper rgic @ = 77 9 99 R0 8 A a1 A g & ?

(1) s @ o ey o ek T A <

(2) @7 O TS ot Wa &

(3) ot sgie & Y Sge F St o B SN iR dT 9

(4) <rdie @ fire T W S e ¥ R e weieg o1 B S R gl 8- o
(s) fowm fawed @1 BigaR 37

v @1 aTeer i g @ Ry R T 8 |

(1) 7= et (2) s (3) @€ wrafi

(4) amga= (s) fu e faedl & Bigaw 34

Rt v g ¥ fbet Sgeie g vE wWae & 7

(1) o & st 7 (2) ¥=a @@

(3) amyfEn frew &1 Hmal & IFER (4) T g R R v & Sus v 78

(5) foymw fiwedt o1 Biear a4

Tl & der i Treeed | FES & |

(1) Bt sReed (2) W egvaed (3) wie seaed

(4) ae sEed (5) w9 SrEeEey!

£-Ae G2 ISP 3 waiiee & T @ féae &1 W @ § S7r o € |

(1) & (2) @ (3) % (4) * (5) #

fierw dvaciy @ Rftr ofede o sigeie g e 8 2

(1) wefte (2) #=a (3) % (4) 3mma (s) fau i fmodl o B 34
FgER P a5 ges! g g &R e e ?

(1) glefrd (2) Ik (a) yfterses wam

(4) amfET Ryeey (5) fauaw Reed o vrgaw a7y
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Q.91. The webpage or local file that is automatically loaded at the start is called

(1) Home Page (2) Browser page (3) Search Page
{4) Bookmark {5) Start Page
Q.92, Onthe —_____ of a software, lists of executable commands and options are displayed.
(1) menubar (2) tool bar (3) title bar  (4) formula bar (5) Other than those given as options
Q.93. Under editing mode, on the tool bar, clicking B after selecting the word/text, converts the entire
selection into
(1) Italics {2) Underlined (3) Italics and Underlined (4) Coloured (5) Bold
0Q.94. The blinking point which shows your position on the monitor is called ——
{1) Blinker (2) Cursor (3) Causer
(4) Pointer (9) Other than those given as options
Q.95. Which one of the following software applications would be the most appropriate for performing
numerical and statistical calculations 7
(1) Database (2) Document processor {3) Graphics package
{4) Presentation (5) Spreadsheet
Q.96. Asystem that allows simple and efficient interaction between the user and the operating system is
called
{1) user interface (2) language translator (3) platform
(4) screen saver (5) icon
Q.97. On MS Windows Operating Systemn you can keep your personal files/folders in ——
(1) My folder (2) Network Connections {3) My Files
(4) My Text {(5) My Documents
Q.98. In arder lo save an existing document with a different name you need to ——

(1) Retype the document and give it a different name

(2] Use the Save as command

{3) Copy and paste the original document to a new document and then save

(4) Use Windows Explorer to copy the document to a different location and then rename it
(&) Other than those given as oplions

Q.99. A system which is operationally convenient to the user is called —
(1) user friendly (2) information (3) word processing
(4) icon (5) Other than those given as options

Q.100. How many different documents can you have opened at any one time?
(1) No more that three
{(2) Only one
(3) as per the limitations of the operating system
{4) Mo more than your Taskbar can display
(5) Cther than those given as options

Q.101. A directory within a directory is called

(1) Mini Directory {2) Junior Directory (3) Part Directory
{4) Special Directory (5) Sub Directory

Q.102.  E-mail addresses separate the user name from the ISP using the —___ symbol
(1) & (2) @ (3) % (4) = (5) #

Q.103.  Various applications and documents are represented on the Windows desktop by ——
(1) Symbols (2} Labels (3) Graphs (4) lcons {8) Other than those given as options

Q.104. The — tells the computer how to use its components
(1) utility (2) network (3) application program
(4) operating system (5) Other than those given as options
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H.105.

H.106.

H.107.

H.108,

H.1089.

H.110.

111,

.11z,

H.113.

H.114,

H.115.

H.1186.

117,

H.118.

H.119.

H.120.

222

Bey # iy Aav Tev F & o gied da W we faes ST |

(1) fEee T (2) 7= 99 7= (3) g=v=afem

(4) goe oo waw (5) Rum Rwet & e g

e vaRT g W Te wEe & Miiw won 7 Res a=a gy e ifor Feis e o
S E |

(1) = (2) == (3) =g (4) 33 (5) fom r fewt 3 geam 37
fam et & W & 9 gl o wies aret A s §——

(1) fefemgs fen (2) anmem fives (3) Heomgvs Rees
(4) afo= = fieew (5) w¥ed Rywem
Hie Al ofFy ¥ Seveae UEe @ [t o T oisefie ¥ neld eie s @ e & |
(1) 2= (2) ¥ (3) atrg (4) & (5) famm Rt @ viege amg
Fee FNIFE R O BT Y P G T & e Wi # i FgeaT 2 |
(1) gom e (2) = (3) dwuss (4) wrmes (5) dwedw
o ST @ e & R e Rl Bl & g 3 @7 e oot g # 2
(1) sm (2) gor et (3) cPU (4) oRwwe (5) fewree
FEeE SO G @ SUET AR ST © |
(1) = (2) W= (3) wer (4) fR= (5) wem
foeft o€ srgitc @ S H9 vy o W # |
(1) wrzE (2) =8 (3) o=t (4) wome  (5) Ry e 9 Sea g

W e offe @ U Y A B 9 9he o gl T R feEa # |

(1) I RFex (2) WFeads (3) cmeadn  (4) dedq  (5) Rum Rl o oo o
Aitey, firew 3l S 3% ORwwRe fRaedy & Wy SR fieen o difeas o are Sved 1
wEd & |

(1) g (2) gleferd (3) S=Fg (4) ¥R (5) UfFedex

A= Uele waEat & W Egde oY fieen a e FEATE & |

(1) daf (2) =fofm (3) semRfRET  (4) ®Wfem (5) Ru Reed @ Slewm 3
# 2 w Fr=farfiag § @ gt (Keys) @1 Fi901 S T77 Segie @ fHere # gear & ?

(1) CTRL+A (2) ALT +F5 (3) SHIFT +A

(4) e =& famm = weww B (5) f2u m Rt @ v o=

e et 1 2 e & e oS M A S @ wE |
(1) 9= w (2) e wf (3) fime v
(4) affamm wffm (5) farm Reedt o gewR a0

I SeY YT @ T TEd § o s Seey fived 6 serniie! ®f Wfta R e g ?

(1) Refiw (2) emdft@l (3) ®dw (4) T (5) R g R 2 e o
af2 3y i1 9 TTeY o W o ) RS @ du 7 owe B At 7S B A STEVER G 3
T B

(1) swmmd (2) m@$ (3) WEwH  (4) FwaH (5) Ry e o seaR g
fereey /fewa Gice R gom g aaon ar fiem 8t o wepe 8 o) e § ——

(1) Ht-aiat (2) wre-afwe Jm (3) T~ il

(a) w-wieht v (5) fz-aireh #erdl
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Q.105.

Q.106.

Q.107.

Q.108.

Q.109.

Q.110.
Q.111.
Q.112.

Q.113.

Q114.

Q.115.

Q.116.

Q117.

Q.118.

Q.119.

Q.120.
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To enler a page number in a header, click the ________ button on the Insert tab.

(1)} Display Number (2) Add Page Number

{3} Header Numbering {4} Insert Page Number

(5) Other than those given as options

The — button on the Quick Access Toolbar allows you to cancel your last command but
retaining the previous status of the file.

(1) Search (2) Cut {3) Document (4) Undo (5) Other than those given as options
A sysiem that connects two devices without the use of cables is called —

(1) distributed system (2) wireless system (3) centralized system

(4) open source system (5) scattered system

Each small rectangle in a spreadsheet representing intersection point of a column and row is
called a

(1) tab (2) cell (3) box (4) range {5) Other than those given as options

A program currently operational and allowing the user to continue other tasks is said to be running in
the

{1) user session {2) kemnel (3) background {4) foreground (5) backstage

A value or setting that a programme automatically selects without giving any specification is called —
(1) icon (2) user friendly (3) CPU (4) peripheral (5) default

A{n) —__ allows sharing of a broadband Internet connection.

{1) hub (2) adapter {3) router (4) swilch (5) plug

A word document can be saved by giving ita —

{1) file (2) word (3) folder (4) project (5) Other than those given as options
Each excelsheet has a reference name that appearsonthe ________ at the bottom of the workbook.
(1) name indicator (2} active tab (3) title tab

(4) sheet tab (5) Other than those given as options

Softwares which make the operating system compatible with peripheral devices, such as monitors,
printers, and scanners are called —

(1) drivers (2) utilities (3) interfaces (4) managers (5) activators
Working together in cooperation on a document with other excel users is called ——

(1) sharing (2) merging {3) collaborating

(4) routing (9) Other than those given as optlions

Which combination of the following keys on the key board can select the entire document ?

(1) CTRL + A (2) ALT + F5 (3) SHIFT +A

{4) Cannot be dane (5) Other than those given as options

The vertical space left between two lines of a text document is called

(1) double-space (2) line spacing (3) single space

(4) vertical spacing {5) Other than those given as options

A Computer Program which is capable of restricting functionality of your computer system is called —
(1) disease (2) torpedo (3) hurricane

(4} virus {5) Other than those given as options

If you type a word that does not match WORD's dictionary, a —___ wavy underline appears below
the word

(1) red colour (2) green colour {3) blue colour

i4) black colour 5} Other than those given as oplions

A system/disk content that cannot be changed or erased by the user is called —

(1)} memory-only (2] write-only memory (3) buy-ready memory

{4) run-only memory (5) read-only memory
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@. FOBM NO : 222 (RIGHT ANSWERS)

s " S S W N S WS WS P M M S S N M M o

2. No. Besponse Q. Nco. Response Q. No. Response Q. No. Response

i i e . e [ e - [ e S e ] e e i A, s e s O A A S O A S s S B S il

I = A 51 5 101 5 151
2 @ B 52 3 102 2 152
3 = 2 53 1 103 4 153
4 % 4 24 + 1 104 = 4 154 =
g 4 3 5y = 2 105 ¢ 4 155 =
) 5 56 1 108 4 15¢
- | 37 ¢ 3 107 : 2 15F &
g ¢ 4 58 5 108 2 158
8 3 59 5 109 3 159
10 + 4 60 2 110 5 1&0
11 3 Bl 4 111 3 16l
1e 5 B2 2 12 162
13 ¢+ 3 g3 1 2 i3 4 4 163
14 : 4 ed : 5§ 114 : 1 164
15 o | a5 5 115 3 165
L6 4 6g6 5 116 1 166
17 1 67 3 117 2 1ed
lg 68 3 i1ls 4 l1e8
18 ¢ 35 B3 1+ 1 s 3 oz 169
20 4 70 ¢ 4 20 & ‘B 170 3
21 4 71 1 121 171
22 1 T2 2 122 172
23 ¢+ 5 73 1 123 173
24 3 T4 1 124 174
25 3 75 2 125 175
26 i 76 3 12& 176
27 1 77 2 127 7 7 -
28 3 78 3 128 4 178 s
29 2 74 4 128 = 179
30 1} g0 1 4 130 180
31 i 81 % 5 131 3 181
32 =] g2 3 132 & 12
33 3 %4 B3 1 123 3 183
34 4 84 ] 134 184
35 1 85 3 135 i 185 i
2. i 4 ge : 4 136 186
31T = 5 g7 30 13 2 187
38 2 88 3 138 1 18g -t
39 5 - B2 2 139 = 189
a0 o+ 4 0 + 4 140 ral,
41 5 91 ] 141 181
42 1 3 32 + 1 142 182
43 @ 1 83 5 143 -
44 3 84 2 144 194
45 2 25 3 145 185
48 B 96 1 1486 188
47 5 87 5 147 187 =
48 3 o8 2 148 198
439 4 99 1 149 125
50 ¢ 3 100 3 THE 200

S S —————————————

Blank space, if any against Q. no, means the Question is dropped and marks
added to candidates score i.e, credit given to all the candidates for the
dropped gquestionis).



